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BCOC-136 : INCOME TAX LAW AND PRACTICE  

Time : 3 Hours  Maximum Marks : 100 

Note : Attempt any five questions. All questions 

carry equal marks. 

1. (a) What are the different categories into 

which the assessee is divided on the 

basis of residence ? How are they 

taxed under Income Tax Act ? 10 



 [ 2 ]  BCOC–136 

C–2703/BCOC–136 

 (b) "The income of the previous year is 

taxed in the current year." Explain. 

Also discuss its exemption. 10 

2. (a) What are the provisions of income tax 

related to house rent allowance ?  10 

 (b) Define annual value and state the 

deductions that are allowed from the 

annual value in computing the income 

from house property. 10 

3. (a) What do you mean by Clubbing of 

Income ? In what circumstances is the 

income of one person treated as 

income of another ? 10 

 (b) Mr. Vishesh, who is not covered by the 

Payment of Gratuity Act, 1972, 

receives a gratuity of ` 5,76,000, when 



 [ 3 ]  BCOC–136 

C–2703/BCOC–136 P. T. O. 

he retires on 23rd June, 2023 after a 

service of 34 years 9 months and  

23 days. His last drawn emoluments 

are as follows : 10 

  Basic salary ` 30,000; Dearness 

allowance ` 7,200 p.m. (Fixed). Annual 

increment in basic salary ` 1,200 p.m. 

falls due on 1st January every year. 

What amount of gratuity is exempt 

from tax in the assessment year 

2024-25 ? 

4. The following are the particulars of Shri 

Apoorva for the A.Y. 2024-25. Compute the 

taxable income : 20 

                                                     ` 

 (i) Income from house property  

  (computed) 25,000 
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 (ii) LTCG on building 30,000 

 (iii) Winning from lottery 80,000 

 (iv) Life insurance premium paid  1,000 

 (v) Interest on Govt. securities  12,000 

 (vi) Income from cloth business  1,25,000 

 (vii) Profit from business of growing 

  mushrooms 40,000 

 (viii) Profit from business of dairy 

  farming 15,000 

5. CA Pawan owns a house of which 50% 

portion is let out for the purpose of 

residence at ` 4,400 per month. 25% 

portion is used by him for his profession 

and remaining 25% portion is used for his 

residence.  
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 From the following particulars, find out 

annual value of the house   property : 20 

 (i) Municipal valuation ` 60,000 

 (ii) Fair rent ` 70,000 

 (iii) Municipal taxes 10% 

6. (a) Explain necessary conditions for 

income to be chargeable under the 

head ‘Profit and gains of Business or 

Profession.’ 10 

 (b) Discuss the provisions of the Income 

Tax Act regarding exemption of capital 

gains u/s 54F. 10 

7. Mr. Shankar Lal’s income particulars are 

as under : 20 

 (i) He took a house on the rent of  

` 1,000 per month and let it out again 

for ` 1,600 per month. Besides, he 
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received ` 5,000 rent from his 

ownership house. 

 (ii) Dividend from an Indian Company  

` 4,000 (Gross). 

 (iii) Speculation business profit ` 6,000 

and ` 500 from cricket gambling. 

 (iv) Agricultural income in Sri Lanka  

` 10,000 was not brought in India.  

` 18,000 income from agricultural land 

situated at Kanpur. 

 (v) Salary as an M.L.A. ` 30,000 and 

Daily Allowances ` 4,000. 

 (vi) Share in HUF income ` 8,500. 

 (vii) Dividend received ` 6,000 from Co-

operative Society. 

Compute Income from Other Sources. 
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8. Write short notes on any four of the 

following : 4×5=20 

 (a) Deduction under Section 80G 

 (b) Agriculture income and Partly 

Agricultural income 

 (c) Bondwashing transactions 

 (d) Transfer of capital asset 

 (e) ITR 1 Form 

 (f) Rent free accommodation 
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 BCOC–136 

okf.kT; esa Lukrd (lkekU;)  

[ch- dkWe- (th-)] 

l=kar ijh{kk  

twu] 2025 

ch-lks-vks-lh-&136 % vk;dj fo/kku ,oa O;ogkj 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % fdUgha ik¡p iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad 

leku gSaA 

1- (v) fuokl ds vk/kkj ij fu/kkZfjfr;ksa dks fdu&fdu 

Jsf.k;ksa esa ck¡Vk tkrk gS \ vk;dj vf/kfu;e ds 

rgr mu ij dSls dj yxk;k tk ldrk gS \ 10 
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 (c) ßxro"kZ dh vk; ij dj&fu/kkZj.k o"kZ esa dj 

yxk;k tkrk gSAÞ le>kb,A bldh NwV ij Hkh ppkZ 

dhft,A 10 

2- (v) edku fdjk;s HkÙks ls lEcfU/kr vk;dj ds izko/kku 

dks crkb,A 10 

 (c) okf"kZd ewY; dks ifjHkkf"kr dhft, rFkk edku 

lEifÙk ls vk; fu/kkZfjr djus ds fy, okf"kZd  

ewY; ls nh tkus okyh dVkSfr;ksa dk o.kZu  

dhft,A 10 

3- (v) vk; ds feyku ls D;k vkidk D;k vk'k; gS \ 

fdu ifjfLFkfr;ksa esa ,d O;fDr dh vk; nwljs dh 

vk; ekuh tkrh gS \ 10 
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 (c) Jh fo'ks"k] tks xzsP;qbVh Hkqxrku vf/kfu;e] 1972 

ds vUrxZr ugha vkrs gSa] 34 o"kZ 9 ekg 23 fnu dh 

lsok ds mijkUr 23 twu] 2023 dks lsokfuo`Ùk gksus 

ij ` 5]76]000 xzsP;qbVh ds izkIr djrs gSaA mUgksaus 

lcls vUr esa fuEufyf[kr dqy osru izkIr  

fd;k %  10 

  ewy osru ` 30]000_ izfr ekg eg¡xkbZ HkÙkk  

` 7]200 izfr ekg (LFkk;h)] ewy osru esa ` 1]200 

izfr ekg dh okf"kZd o`f¼ izfr o"kZ 1 tuojh dh 

gksrh gSA  

  dj fu/kkZj.k o"kZ 2024&25 esa xzsP;qbVh dh fdruh 

jkf'k djeqDr gksxh \ 
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4- fuEufyf[kr fooj.kksa ls Jh- viwoZ dh dj&fu/kkZj.k  

o"kZ 2024&25 ds fy, dj&;ksX; vk; dh x.kuk  

dhft, %   20 

                                                       ` 

 (i) edku lEifÙk ls vk; (x.kuk dh xbZ) 25,000 

 (ii) Hkou ls nh?kZdkyhu iw¡th ykHk 30,000 

 (iii) ykWVjh ls thr 80,000 

 (iv) thou chek izhfe;e dk Hkqxrku 1,000 

 (v) ljdkjh izfrHkwfr;ksa ij C;kt 12,000 

 (vi) diM+s ds O;kikj ls vk; 1,25,000 

 (vii) e'k:e mxkus ds O;olk; ls ykHk 40,000 

 (viii) Ms;jh QkeZ ds O;olk; ls ykHk 15,000 
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5- fe- iou (pkVZMZ ,dkmUVsUV) ,d edku ds Lokeh gSa] 

ftldk 50% Hkkx jgus ds mís'; ls ` 4,400 izfrekg 

fdjk;s ij fn;kA 25% Hkkx iou us Lo;a ds is'ks esa iz;ksx 

fd;k rFkk 'ks"k 25% Hkkx Lo;a jgus esa iz;ksx fd;kA 

fuEufyf[kr fooj.k ls edku lEifÙk dk okf"kZd ewY; Kkr 

dhft, %   20 

(i) uxjikfydk ewY; ` 60,000 

(ii) mfpr fdjk;k ` 70,000 

(iii) uxjikfydk dj 10% 

6- (v) mu vko';d n'kkvksa dk o.kZu dhft, ftuls vk; 

^O;kikj vFkok is'ks ds ykHk ,oa izkfIr;k¡* 'kh"kZd 

ds vUrxZr 'kkfey gksrh gSaA 10 
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 (c) vk;dj vf/kfu;e dh /kkjk 54F ds vUrxZr 

of.kZr djeqDr iw¡th ykHk ls lEcfU/kr izko/kkuksa dh 

O;k[;k dhft,A 10 

7- Jh 'kadj yky dh vk; dk fooj.k fuEu izdkj gS % 

    20 

 (i) bUgksaus ` 1,000 izfr ekg ij ,d edku fdjk;s ij 

fy;k ,oa bls iqu% ` 1,600 izfr ekg fdjk;s ij 

mBk fn;kA blds vfrfjDr muds futh LokfeRo ds 

edku ls Hkh ` 5,000 fdjk;k izkIr gqvkA 

 (ii) ,d Hkkjrh; dEiuh ls ykHkka'k ` 4,000 (ldy)A 

 (iii) lV~Vs ds O;kikj ls ykHk ` 6,000 ,oa fØdsV ds 

lV~Vs (tq,) ls vk; ` 500A 
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 (iv) Jhyadk esa fLFkr Ïf"k Hkwfe ls vk; ` 10,000, 

;g vk; Hkkjr esa ugha ykbZ xbZA dkuiqj esa fLFkr 

Ïf"k Hkwfe ls vk; ` 18,000A 

 (v) fo/kku lHkk lnL; ds :i esa osru ` 30,000 ,oa 

nSfud HkÙks ` 4,000A 

 (vi) fgUnw vfoHkkftr ifjokj dh vk; esa fgLlk  

` 8,500A 

 (vii) lgdkjh lfefr ls izkIr ykHkka'k ` 6,000A 

 Jh 'kadj yky dh vk; ds vU; lzksrksa ls vk; Kkr 

dhft,A 

8- fuEufyf[kr ds ls fdUgha pkj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

 (v) /kkjk 80 th ds rgr dVkSrh 
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 (c) Ïf"k vk; vkSj vkaf'kd :i ls Ïf"k vk; 

 (l) fn[kkoVh ysu&nsu (Bondwashing 

Transactions) 

 (n) iw¡thxr ifjlEifÙk dk gLrkarj.k 

 (b) vkbZ-Vh-vkj- 1 QkWeZ 

 (Q) fdjk;k eqDr vkokl 

× × × × × 

 

 

 

 

 

 

 


